KLE Society's Law College, Bengaluru Student Satisfaction Survey for the Academic Year 2019-20

Question	No. of Responses	value	Score	Average
1. How much of the syllabus was covered in the class?				
85 to 100%	47	4	188	
70 to 84%	66	3	198	1
55 to 69%	42	2	84	2.74
30 to 54%	12	1	12	2.74
Below 30%	9	0	0	
		Total	482	
2. How well did the teachers prepare for the classes?				
Thoroughly	25	4	100	
Satisfactorily	116	3	348	
Poorly	25	2	50	2.07
Indifferently	7	1	7	2.87
Won't teach at all	3	0	0	
		Total	505	
3. How well were the teachers able to communicate?				
Always effective	29	4	116	
Sometimes effective	69	3	207	
Just satisfactorily	51	2	102	2.51
Generally ineffective	17	1	17	2.51
Very poor communication	10	0	0	
		Total	442	
4. Were the teachers successful in invoking interest in the subject?		-		
Strongly agree	16	4	64	
Agree	49	3	147	
Neutral	68	2	136	2.13
Disagree	28	1	28	
Strongly disagree	15	0	0	
	· · · · · · · · · · · · · · · · · · ·	Total	375	
5. Fairness of the internal evaluation process by the teachers.				
Always fair	36	4	144	2.69
Usually fair	91	3	273	
Sometimes unfair	22	2	44	
Usually unfair	13	1	13	
Unfair	14	0	0	
	,	Total	474	

2				
6. Was your performance in assignments discussed with				
you?			.1	
Every time	19	4	76	
Usually	40	3	120	
Occassionally/ Sometimes	46	2	92	1.79
Rarely	27	1	27	1.77
Never	44	0	0	
		Total	315	
7. The institute takes active interest in promoting and				
facilitating internship, field visit, and similar				
opportunities for students.				
Frequently	21	4	84	
often	38	3	114	
Sometimes	47	2	94	1.89
Rarely	41	1	41	1.89
Never	29	0	0	
	,	Total	333	
8. Adequate efforts are made by the institution in the			•	
teaching and mentoring process to facilitate your				
cognitive, social and emotional growth.				
Strongly agree	19	4	76	
Agree	46	3	138	
Neutral	55	2	110	2.02
Disagree	31	1	31	2.02
Strongly Disagree	25	0	0	
	l l	Total	355	
9. The institution provides multiple opportunities to				
learn and grow.				
Strongly agree	14	4	56	
Agree	66	3	198	
Neutral	64	2	128	2.26
Disagree	16	1	16	
Strongly Disagree	16	0	0	
		Total	398	
10. Teachers inform you about your expected		2		
competencies and learning outcomes of the course and				
programme.				
Strongly agree	19	4	76	
Agree	50	3	150	
Neutral	57	2	114	
Disagree	25	1	25	2.07
Strongly Disagree	25	0	0	
Sucher Disagree		Total	365	
		TOTAL	303	

11. Your mentor/ Class Teacher does a necessary				
follow-up with an assigned task to you.				
Frequently	51	4	204	
Often	39	3	117	
Sometimes	40	2	80	2.42
Rarely	25	1	25	2.42
Never	21	0	0	
		Total	426	
12. The teachers illustrate the concepts through				
examples and applications.				
Frequently	44	4	176	
Often	61	3	183	
Sometimes	52	2	104	2.71
Rarely	14	1	14	2./1
Never	5	0	0	
		Total	477	
13. The teachers encourage you to improve upon your		•	•	
strengths by providing right level of challenges.				
Strongly agree	21	4	84	
Agree	39	3	117	
Neutral	66	2	132	2.02
disagree	24	1	24	2.03
Strongly disagree	26	0	0	
		Total	357	
14. The teachers help you to overcome your		•	•	
weaknesses.				
Strongly agree	13	4	52	
Agree	44	3	132	
Neutral	55	2	110	1.02
Disagree	27	1	27	1.82
Strongly disagree	37	0	0	
		Total	321	
15. The institution makes effort to engage students in			<u>.</u>	
the monitoring, review and continuous quality				
improvement of the teaching learning process.				
Strongly agree	20	4	80	
Agree	53	3	159	2.11
Neutral	52	2	104	
Disagree	28	1	28	
Strongly disagree	23	0	0	
		Total	371	
		10001	5,1	

16. The institution/ teachers use student centric				
methods, such as experiential learning, participative				
learning and problem solving methodologies for				
enhancing learning experiences in the relevant subjects/				
course.				
To a great extent	20	4	80	
Moderate	54	3	162	
Some what	45	2	90	2.07
Very little	32	1	32	2.07
Not at all	25	0	0	
		Total	364	
17. 1				
17. Institution/ Teachers encourage you to participate in				
co-curricular and extracurricular activities, such as				
Moot Courts, Trial Advocacy, MUNs, ADR				
Competitions, Sports, cultural competitions, etc.				
Strongly agree	32	4	128	
Agree	64	3	192	
Neutral	41	2	82	2.44
Disagree	28	1	28	2.44
Strongly Disagree	11	0	0	
	-	Total	430	
18. The institution/ teachers organise workshops and		!	!	
programmes to inculcate soft skills, life skills and				
employability skills to make you ready for the world of				
work.				
Frequently	20	4	80	
Often	60	3	180	
Sometimes	54	2	108	
Rarely	21	1	21	2.21
Never	21	0	0	
		Total	389	
19. What percentage of teachers use ICT tools such as				
LCD projector, Multimedia, etc. while teaching.				
Above 90%	32	4	128	
70 – 89%	64	3	192	
50 – 69%	47	2	94	
30 – 49%	10	1	10	2.41
Below 29%	23	0	0	
		Total	424	
20. How do you rate the overall quality of teaching-				
learning process in your institution?				
Thoroughly Meets Standards	17	4	68	
Meets Standards	57	3	171	
Approaching Standards	57	2	114	
Not Yet Approaching Standards	31	1	31	2.18
No attempt to improve	14	0	0	
110 attempt to improve	17	Total	384	
		Total	304	

21. Did the institution make continuing efforts in				
adapting to and improvising in the changed				
circumstances due to the Covid-19 Pandemic?				
To a great extent	47	4	188	
Moderate	61	3	183	
Somewhat	39	2	78	2.68
Very little	22	1	22	2.08
Not at all	7	0	0	
		Total	471	
22. The teachers have attempted to employ innovative and creative tools and methods to teach in virtual				
mode?				
To a great extent	31	4	124	
Moderate	70	3	210	
Somewhat	37	2	74	2.44
Very little	22	1	22	2.44
Not at all	16	0	0	
	•	Total	430	
			Σ	50.5
	Fi	inal Score	∑/22	2.3